12@0738 (K12a0738)
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6,12-5->11>4—->1->10>7—>9—>3 > 8 = 2> C1,C7
Cs C C2

A knot diagrarrﬂ 11 €4 Ci2 Clo C C9 €3 G

Ideals for irreducible component#ﬂ)f Xpar

I = (w —u™® 4 pu? - 1)

* 1 irreducible components of dim¢ = 0, with total 59 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI=(u—u®+. ... +u?—1)

(i) Arc colorings

wl —3ut +2u%+1
—ub 4+ 2ut —u?
u? —4u” +5u’ — 3u
—u? 4+ 3u” —3u® +u
u?? —9u? . —4u? 41
—u? + 8u®0 + - + 4ut + 3u?
u21—8u19—|—---—4u3—3u>

ag = \ u®® - 9u? + .. —4u® +u
—uSt + 200 + -+ 4 20u® + Tu?
az = bt —19u® + - — w3
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u% + 84u®* + ... + 8u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! u?® 42908 4 2u 1

Ca,C7 W+ 4?1

s u?? — U 4. — 214u — 61
C4, C5,C11 ub — P 4wt -1
C6, €9, €10 uwP? £ 3uP £ £ 26u+ 5

C12
c8 u® +3u”® + - 4 274y — 187




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c y59+3y58+__._18y_1
c2,C7 Y =29y 4 42y — 1
c3 y*0 + 11y°8 + .- + 17370y — 3721
C4,C5,C11 Y =45y 2y — 1
Cg, C9, C10 y59+71y58+"’*54y*25
C12
cs y59 + 23y58 + .- — 139226y — 34969




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

= —1.049650 + 0.2440741

—1.46822 + 3.885191

2.11458 — 3.156841

—1.049650 — 0.2440741

—1.46822 — 3.885191

2.11458 4 3.156841

—0.015995 + 0.9156341

—14.7136 — 0.77211

—3.56410 — 0.317151

= —0.015995 — 0.9156341

—14.7136 + 0.77211

—3.56410 + 0.317151

—0.029257 + 0.9128961

—12.9183 — 9.08901

—1.27230 + 5.796581

= —0.029257 — 0.9128961

—12.9183 4 9.08901

—1.27230 — 5.796581

= 0.024127 4+ 0.9083251

—10.26760 4 4.099351

1.75919 — 2.251791

= 0.024127 — 0.9083251

—10.26760 — 4.099351

1.75919 + 2.251791

0.008156 + 0.8884711

—7.74257 + 2.404061

2.67885 — 3.262071

0.008156 — 0.8884711

—7.74257 — 2.404061

2.67885 + 3.262071

—0.154537 + 0.6520881

—4.02672 — 7.300621

= 1.096820 + 0.2051211 1.080150 + 0.4807381 6.00000 + 0.1

= 1.096820 — 0.2051211 1.080150 — 0.4807381 6.00000 + 0.1

= —1.128910 + 0.2721601 —2.42286 — 3.690431 0

= —1.128910 — 0.2721601 —2.42286 + 3.690431 0

u= 1.16156 2.06866 6.00000

u= 1269780+ 0.147882I 2.98114 — 0.208121 0
u= 1269780 — 0.1478821 2.98114 + 0.208121 0
u=1.256570 4+ 0.2668691 —1.39782 + 3.108981 0
u= 1.256570 — 0.2668691 —1.39782 — 3.108981 0
u = —1.272580 + 0.1922971 3.97948 — 4.124931 0
u = —1.272580 — 0.1922971 3.97948 4 4.124931 0
u = —1.292070 4 0.0253571 5.86156 — 0.824471 0
u = —1.292070 — 0.0253571 5.86156 4 0.824471 0
u = 1.303410 + 0.0503691 4.08832 + 5.407481 0
u = 1.303410 — 0.0503691 4.08832 — 5.407481 0
u = —1.284990 + 0.2401897 2.75808 — 5.723881 0
u = —1.284990 — 0.2401891 2.75808 + 5.723881 0
u=1.296950 4 0.2528841 0.47013 + 10.528401 0
u=1.296950 — 0.2528841 0.47013 — 10.528401 0
U

—0.57198 + 8.022661




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u = —0.154537 — 0.6520881 —4.02672 4 7.300621 —0.57198 — 8.022661
u = —0.082927 4 0.6648671 —5.50022 4 0.234491 —3.62552 + 0.571331
u = —0.082927 — 0.6648671 —5.50022 — 0.234491 —3.62552 — 0.571331
u = —1.261370 + 0.4495341 —9.10474 + 4.228351 0
u = —1.261370 — 0.4495341 —9.10474 — 4.228351 0
u = 1.264440 4 0.4437671 —6.42613 + 0.727151 0
u=1.264440 — 0.4437671 —6.42613 — 0.727151 0
u= 1.2735104 0.4217891 —3.81526 + 2.283161 0
u= 1.273510 — 0.4217891 —3.81526 — 2.283161 0
u = —1.273610 + 0.4475291 —10.81480 — 4.092201 0
u = —1.273610 — 0.4475291 —10.81480 4 4.092201 0
u = —1.286810 + 0.4195851 —3.71576 — 7.085241 0
u = —1.286810 — 0.4195851 —3.71576 4 7.085241 0
u = 0.135360 + 0.6200161 —1.62134 + 2.645441 2.55643 — 4.492921
u = 0.135360 — 0.6200161 —1.62134 — 2.645441 2.55643 + 4.492921
u = 1.298440 4 0.4377521 —10.62320 4 5.606191 0
u= 1.298440 — 0.4377521 —10.62320 — 5.606191 0
u = —1.302440 + 0.4303051 —6.13573 — 8.884321 0
u = —1.302440 — 0.4303051 —6.13573 + 8.884321 0
u= 1.307160 + 0.4321721 —8.7535 + 13.89601 0
u= 1307160 —0.4321721 —8.7535 — 13.89601 0
u= 0.143619 + 0.4864561 —0.31966 + 1.647591 3.71266 — 6.340851
u= 0.143619 — 0.4864561 —0.31966 — 1.647591 3.71266 + 6.340851
u = —0.436286 + 0.2528531 —1.03116 — 4.556551 4.61891 + 7.760471
u = —0.436286 — 0.2528531 —1.03116 + 4.556551 4.61891 — 7.760471
u = —0.280522 4 0.3754131 —1.54969 + 2.030911 2.13878 4-1.094491

= —0.280522 — 0.3754131

~
e
|

—1.54969 — 2.030911

2.13878 — 1.094491

0.392822 + 0.1218361

S
|

0.952284 + 0.3998841

10.51926 — 2.517361

u= 0.392822 — 0.1218361

0.952284 — 0.3998841

10.51926 + 2.517361




II. u-Polynomials

Crossings u-Polynomials at each crossing

€1 u?? +29u”® + 4 2u+ 1

c2,C7 ub Ut 4 4w -1

€3 u’? —u®® + - — 214u — 61
C4,C5,C11 u597u58+"‘+u271
C6,C9, C10 W £ 3u8 £ £ 2%u+5

C12
cs u 4 3u%® + - + 274u — 187




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

€1 v 43y =18y — 1

Ca, C7 y?? — 299" .. 2y — 1

€3 yP? + 1198 + ... 4+ 17370y — 3721
C4,C5,C11 yP0 — Ay 2y — 1
C6,C9, C10 y59_’_71y58+._._54y_25

C12
Cg y59 + 23y58 + .

— 139226y — 34969




